Roll No.

(Write Roll Number from left side
exactly as in the Admit Card)

PAPER-II

Subject Code : 10

Signature of Invigilator

Question Booklet Series

Question Booklet No.

(Identical with OMR
Answer Sheet Number)

POLITICAL SCIENCE

Time : 2 Hours

Maximum Marks: 200

Instructions for the Candidates

Write your Roll Number in the space provided on the top of this page
as well as on the OMR Sheet provided.

At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.

(i) Faulty booklet, if detected, should be got replaced immediately
by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iii) Verify whether the Question Booklet No. is identical with

OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

This paper consists of One Hundred (100) multiple-choice type
questions. All the questions are compulsory. Each question carries
two marks.

Each Question has four alternative responses marked:

@ @ @ . You have to darken the circle as indicated

below on the correct response against each question.

Example:@ . @ , where @ is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.

6. Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

AT T T

@3 PR Toifreie Fiie e 3k OMR sit@d e 2w fiees
TE AT (Roll No.) &7 1

AN R 2o G-I (Booklet) S#RIE (redt 2 | @
@ (515) T2 aieig-s|f¥aI (Booklet) 47w WG @it Tb1E w5
TSR T SANCE AN I 20T 8

(i) Mﬂ@*ﬂ%ﬂ% (Booklet)‘t’ﬂl@w ko W (Cover Page)

AITZ FoIGH A6 SN Yoo 2 |

(i) M 2olg-5|fEFT (Booklet) @Hge ase [Hifts =7, o=
AT e A Ap WG W [ Al @b Al
2Aig-+{fE (Booklet) @il AfeBIfre = (T | @ ANER
A7 (T O 2l2i@-7{f¥F! (Booklet) 2foZI?a 1 T |
@e Tfsfae wwe @edl 2@ T
24719-9R% (Booklet) @3k OMR #I09d 773 Sifeq Stz =1l a5l
I (I | THC e 1 7l e afezifie wce = @)
(iv) A6 T T eXisia-5jfeF (Booklet) FifEer @3 emisig

AfRFT (IFEB) 799 OMR 2Ita ool Face 2 @1

@3 J[EHre G (300)-6 IR Te« 2l (Multiple-choice
Type Questions) IE(Z | 2 2vaa Tea Fa1 i | afo aimsm
S 73

Aol 2o Tesmeel bR € (Circle) Bbfers [Res Teq w0z ¢
@A ®) (© D) frsfris fss sivme 7 Seala 7e
T PG TS 2|

mzr: D B @ @), e e ve1 © |

SRR (ST 2AT8F ToF Teaeft @ OMR oftas Fiff 22 (e
27 | OMR *Ita3 e Jred AR T frel (Five ©ie ot e
2@ Al

(iii)

b, 2G5 (Booklet) (I SRE* AT FIS (rough work) FICA |

OMR #itad {8 it [Wiie 9 anie Jrore sl 7 sfefie @e
Gsre © IA— TN, I 77 (FT0A LA G (Fve TS o7
T 7 S s «ifpn bizre 20e siiw w2l @ine SR
SRIF 2T T T IR (FNS T SRETT T T IU— AT
i @ I e M Tea SAffasEa gum S =@, eioweg e
AN TEoa AR o W AR |

8. Do not tamper or fold the OMR Sheet in any way. If you do so, your . OMR g0 (FFe SiT Foaw T W  Sier FAE 1l | GITFCE
OMR Sheet will not be evaluated. 2 OMR 7@l FEniRie 23 |

9. You have to return the Original OMR Sheet to the invigilator at the . oI G 2 SR I 2359 (Original ) OMR #1@fb »I3w sAfviees
end of the examination compulsorily and must not carry it with you ol it 2@ @3k (@Ine O afb “(FR e ARE e e 2
outside the Examination Hall. You are, however, allowed to carry 1 AE N | DA SR 217 AN i@zﬁmaﬁﬂ@—vﬂ'@mﬁ (Booklet)
question booklet and duplicate copy of OMR Sheet after completion '€ OMR 7ita9 2ifsfefat (Duplicate) Sfolfb fcer sTet vz @ R @
of examination. AR |

10. Use only Black Ball point pen. so. VYN FITEN I ATTD (217 I FAE|

11. Use of any calculator, mobile phone, electronic devices/gadgets 3. (FINE OFT FIEFED, (AR (T, (@pfen Sowared
etc. is strictly prohibited. (TTeiz/sitena Tejiv) e IS g |

12. There is no negative marks for incorrect answer. 32, e TGEA T (FINE TN (SA5F (Negative) 99 (RST A |

23195 [ Please Turn Over ]






X-3 10-11

PAPER 11

(POLITICAL SCIENCE)

1. Radical Feminism is associated with
(A) Mary Wollstonecraft
(B) Carole Pateman
(C) Kate Millet
(D) None of the above

2. Theview thatthereis acloserelationship between
justice and equality is attributed to whom?
(A) Multiculturalists
(B) Liberals
(C) Socialists
(D) Conservatives

3. Which of the following is a feature of Socialist
State?

(1) Individualism
(2) Collectivization of agriculture
(3) Movementofproducts and exchanges determined
by the market
(A) 1,2and 3
(B) 1and?2
(C) 2 only
(D) 2 and 3

4. Which of the following book has not been
authored by Karl Marx?
(A) German Ideology
(B) Critique of the Gotha Programme
(C) Paris Manuscripts
(D) Science of logic

5. “The ‘natural’ man will be one in whom strong
conscience and steadfast reason have successfully
harmonized self-love and sympathy.” Who advocated
this?

(A) Hobbes
(B) Locke
(©) Rousseau
(D) Bentham
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6. For Hobbes, ‘felicity’ means
(A) Pleasure

(B) A continued success in obtaining those
things which a man from time to time
desires

(C) Empathy
(D) None of the above

7. Who said this : “. . . equality is of two kinds,
numerical and proportional; by the first | mean sameness
or equality in number or size; by the second, equality
of ratios.”?

(A) Plato

(B) Aristotle

(C) John Stuart Mill
(D) Karl Marx

8. Who wrote : “Over himself, over his own body
and mind, the individual is sovereign.”?

(A) John Stuart Mill

(B) Mohandas Karamchand Gandhi
(C) Jeremy Bentham

(D) Charles Taylor

9. John Rawls ‘theory of justice’ combines

(A) people’sdemocracy, marketeconomy, and
the redistributive welfare scheme.

(B) liberaldemocracy,command economy and
distributive justice.

(C) liberal orassociational socialistdemocracy,
market economy and the redistributive
welfare scheme.

(D) None of the above
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10. Match List-I with List-1I and select the correct
answer from the codes given below:
List-1 List-11
(a) On Liberty (1) Amartya Sen
(b) Lectures on the Principles of (2) T. H. Green
Political Organisation

(¢) Idea of Justice (3) Robert Nozick

(d) Anarchy, State and Utopia  (4) J. S. Mill
Codes:
@ (b)) () (d)
(A 3 1 2 4
@ 1 3 4
< 2 4 3 1
) 4 2 1 3

11. “Primitive or primary accumulation of capital”
refers to

(A) making capital a means for ending
accumulation.

(B) delinking producers from means of
production.

(C) destroying means of production.

(D) prioritizing accumulation over investment
of capital.

12. Which ofthe following statements misrepresents
Neo-liberalism?

(A) Neo-liberalism has been articulated
through privatization.

(B) Neo-liberalism hasbeen articulated through
fiscal austerity.

(C) Neo-liberalism has not percolated to the
local scale.

(D) Neo-liberalismhasbeen articulated through
export-oriented production.

13. Who among the following considered ideology
as ahegemonic project of articulating subject positions
towards a common political project?

(A) Foucault

(B) Laclau and Mouffe
(C) Gramsci

(D) Althusser
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14. Which one of the following statements is
incorrect?
(A) Pluralist theories understand power as
primarily economically determined.

(B) Pluralist theories understand power as
hierarchically and vertically arranged.

(C) Pluralisttheories understand power as non-
hierarchically and competitively arranged.
(D) All of the above

15. Identify the incorrect pair:
(A) Realism — Human Progress
(B) Liberalism — Democratisation
(C) Constructivism — Ideational Factors
(D) Marxism — Underdevelopment

16. Which one of the following concepts discussed
by John Rawls tells us to rank alternatives by their
worst possible outcome?

(A) Lexical priority

(B) Maximax Rule

(C) Maximin Rule

(D) Rule of fair equality of opportunity

17. Whoamong the followingis notacommunitarian
critic of Rawls?

(A) Robert Nozick
(B) Michael Sandel
(C) Michael Walzer
(D) Charles Taylor

18. Who among the following can be dubbed as
domestic constructivist scholar?

(A) Alexander Wendt
(B) Peter J Katzenstein
(C) Jurgen Habermas
(D) Both (A) and (B)
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19. Indicate the correct pair from the following:
(A) Two Ethics of Justice and Care : Karl Marx

(B) Autonomous self without Ethical
Bifurcation : Catherine Mackinnon

(C) Complementarity of Justice and Care :
Carole Gilligan

(D) Good Community needs no concept of
Justice : Carole Pateman

20. Match the following Lists and identify the correct
match from code below:
List-1
(a) Edmund Husserl
(b) Claude Levi Strauss
(c) Bertrand Russell
(d) Roland Barthes

List-11
(1) Structuralism
(2) Logical Atomism
(3) Post-structuralism
(4) Phenomenology

Codes:
@ M © @
A 3 4 2 1
) 2 4 1 3
< 4 1 2 3
D) 1 3 2 4

21. Matchthefollowing Lists and identify the correct
one from the code below:
List-1
(a) Alasdair Maclntyre
(b) Michael Sandel
(c) Charles Taylor

List-11
(1) Complex Equality
(2) Virtue in practice
(3) Meritocraticideal as
an ideal of mobility
(4) Affirmation of
ordinary life

(d) Michael Walzer

Codes:
(@ () (© @
(A) 2 3 4 1
B) 3 4 2 1
< 1 2 4 3
D) 1 3 2 4

22. With reference to Karl Marx’s position on the
role of ideology, in a capitalist society, which assertion
is incorrect?

(A) Ideology inverts the reality.
(B) Ideology projects the appearance.

(C) Ideology presents the unity of essence and
appearance.

(D) Ideology perpetuates false consciousness.

X-7
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23. Who among the following wrote: “Laws are the 23. NI (& TTCATR ¢ N3 Z6T I € TS
rules of just and unjust; nothing being reputed unjust st @aw g2 sy 2o iz 2 @t 2 @ e
that is not contrary to some law”? T I SBR AfR” 2

(A) Bentham (A) @I
(B) Hegel (B) Lo
(C) Hobbes (©) =
(D) Rousseau D) Wﬁ

24. Plato describes the working of the human mind 24. C2ATH! NHANCAT qofel] FE e elE ¢

by: (A) 2 FAT
(A) The allegory of the cave (B) fioe (2 Boim
(B) The metaphor of the divided line (C) Iighes wg
(C) The doctrine of forms (D) Toicare R
(D) All of the above

25. Match List-I with List-II and select the correct 25. Oiferp)-1 @ ©)ferp-11 G@q W& A AR (HI

answer from the codes given below: FAOHF AR CofF 23 ©f Wroiel 2 2

List-I List-I1 w1 ©lferl-11
(a) Perpetual Peace (1) Plato (a) VH'CW % (1) C2IThl
(b) Golden Mean (2) Kant (b) CaNTe N (2) ST
(c) Analogy of the cave (3) Aristotle (c) SR o1 W (' (3) SHIfFAooa
(d) Fortune as a woman (4) Machiavelli (d) EpA SIS S Bewiw (4) TSt

Codes: PO 5
(@ () (¢ (@ @ ) © @

Aa 1 2 3 4 A 1 2 3 4

@ 2 3 1 4 B 2 3 1 4

<© 2 1 4 3 © 2 1 4 3

® 4 3 2 1 D 4 3 2 1

26. Who moved the objectives resolution in the 26. & FRAfEE Aeeifam AeRda TERTTe

Constituent Assembly? AW (2% AR 2
(A) B.R. Ambedkar (A) .o, S
(B) Jawaharlal Nehru (B) ST (2
(C) Sardar Ballavbhai Patel (C) Wi TECSIR AT
(D) Rajendra Prasad (D) ANE 21w



27. Given below are two statements, one is labelled
as Assertion (A) and the other, Reason (R). Select the
correct answer from the code below:

Assertion (A) : G. W. F. Hegel symbolised the
highest achievement of German
Idealism in political thought.

Reason (R) : Hegel disliked the abstract
cosmopolitanideaand believed
in the rationality of existing
institutions.

Code:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

28. Which one of the following is not a good form
of government for Aristotle?

(A) Monarchy
(B) Aristocracy
(C) Democracy
(D) None of the above

29. Indicate the correct pair from the following:

30.

(A) Civic Republicanism : Hobbes

(B) Passive Citizenship : T. H. Marshall

(C) Differentiated Citizenship : I. M. Young
(D) Universal Citizenship : Rome

Arrange the following in order of their appearance

in terms of the code below:

1.

Saptanga Theory

2. Manusmriti
3.
4. Saptakranti

Arya Mahila Samaj

Code:

(A) 2,1,3,4
B) 1,2,3,4
©) 4,3,2,1
D) 2,1,4,3
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31. Who among the following regarded Buddhism
as a moral and tolerant alternative to Marxism?
(A) Ram Mohun Roy
(B) Swami Vivekananda
(C) B.R. Ambedkar
(D) M. N. Roy

32. Ram Mohun Roy was the founder of which of
the following?

(A) Brahmo Samaj
(B) Arya Samaj
(C) Sant Samaj
(D) Visva Bharati

33. ‘Nationalism is a menace’. Who said it?
(A) M. K. Gandhi

(B) Romain Rolland

(C) Rabindranath Tagore

(D) None of the above

34. Which landmark eventin B. R. Ambedkar’s life
took place at the Yeola Conference in 1935?

(A) Published Annihilation of Caste
(B) Launched Mahad Satyagraha

(C) Announced that the depressed classes
would embrace another religion

(D) Started the Independent Labour Party

35. Arrange the following in chronological order of
appearance in terms of the code below:

1. Vasishtha Dharmasutra
2. Apastambha Dharmasutra
3. Gautama Dharmasutra
4. Manusmriti
Code:
(A) 1,2,3,4
B) 3,2,1,4
©) 4,3,2,1
D) 2,3,4,1

X-10
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36. Find among the list the correct trio of country/
colonial state and year of independence.

(A) Ghana / Britain / 1980

(B) Tanganyika / Holland / 1948
(C) Guinea-Bissau / Portugal / 1974
(D) Zimbabwe / France / 1990

37. “The last shall be first and the first last” — is
the famous phrase associated with:

(A) Che Guevara

(B) Frantz Fanon

(C) Amilcar Cabral
(D) Kwama Nkrumah

38. Whichone of the following is not the core element
identified with Realism in International Politics?
(A) Statism
(B) Power
(C) Prudence
(D) Economic Interdependence

39. The term ‘Third World’ was coined by
(A) Jawaharlal Nehru
(B) Alfred Sawvy
(C) Paul Kennedy
(D) Abraham Lincoln

40. Who among the following is a proponent of
Contingent Realism?

(A) Kenneth Waltz
(B) Charles Glaser
(C) John Mearsheimer
(D) Barry Buzan

X-11
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(C) #feT (FCAE
(D) Sy forzs

40. TRt 0 (F *EATF ATIAE &G 2
(A) (FC2 SIS
(B) BT (e
(C) &= SRR
(D) i e
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41. When did India join the security forum of 41. ASEAN-¢F fdgi+/@l (1N, ARF-¢ ©iFw 9l
ASEAN, the ARF? o
((f;‘; 133‘6‘ (A) 1994 7T
B) 1996 AlteT
(©) 2010 (C) 2010 e
(D) 2014 ©
(D) 2014 AlCe
42. The book Blood Telegram deals with the 42. FICGALNTRT @I M AT AT o 2
genocide in (A) SR
(A) Myanmar (B) wcHIfeT
(B) Cambodia (©) fore
(C) Vietnam '
D) <igeiew=t
(D) Bangladesh D) K
43. India is not a member of which of the following 43. oiFe fsfaie @« I s g e w9 2
export control regimes? (A) FPIiEs (GFaETer SO @fem
(A) Missile Technology Control Regime (B) S5l ool
(B) Australia Group (C) S SHAGTTS
(C) Wassenaar Arrangement : ' .
D) fvSigaia At akst
(D) Nuclear Suppliers Group D)
44. “Theory is always for some one and for some 44, “og AT FIE Ty IR (FICA [T
purpose”— this comment is attributed to T —a3 SfE Fig
(A) Stephen M. Walt (A) 5T @, eT%
(B) Steve Smith B) f5e Frel
(C) Robert Cox ©) i Ty
(D) Richard Ashley D) &' ¢ siS]
45. The author of the book Bananas, Beaches and 45. =, S ST ([T qamg (SEEEGED]
Bases is (A) et e
(A) Martha Finnemore (B) W%QW
(B) Andrew Linklater (C) FBC caea
(C) Stephen Glaser (D) fifeml ¢ '
(D) Cynthia Enloe '



46. Which approach to international relations
vehemently objects to the notions of ‘anthropocentrism’
and ‘industrialism’?

(A) Postmodernism

(B) Green Political Theory
(C) Feminism

(D) Marxism

47. ThebranchofPolitical Science whichis focussed
on the interactions among state is called

(A) Political Psychology

(B) Peace and Conflict Studies
(C) Foreign Policy Analysis
(D) International Relations

48. Who proposed the ‘Fourteen Point’ programme
for the formation of League of Nations?

(A) David G. Williamson
(B) Franklin D. Roosevelt
(C) Sam Kutesa

(D) Woodrow Wilson

49. Game theory in International Relations assumes
the following:
(A) Rational choice behaviour from actions
(B) Impulsive choice behaviour from actions

(C) Culturally conditioned response from
actions

(D) None of the above

50. Which of the following was not a member of
the Axis Powers during the Second World War?
(A) Germany
(B) Japan
(O) Italy
(D) Soviet Union

X-13
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46. NTRS@S goenr @R MERm dRedekie
SIS foF T=2(F (I gl 27 [aifae w12
(A) T TigfaFerm

(B) W Ao oG

(C) =Sam

(D) FHAW

47. IBR@IR @ =Nl APelr MAFm Som
AT FH OITF e

(A) FCASF NI
(B) % @ gz 7o
(C) faumi Sifer Rivsrel

(D) BT T51F

48. TSI A0S GBIl v FOPIR AWK (&
fucaferer 2
(A) (ofos &, T3femme
(B) TFfw fS. Fecess
(C) T L&
(D) Lyl ©FFT

49. T[T TTF FI0] 0g (i [FTHF TeeET
A2
(A) IR @GS G B
(B) FIGCFT DNCI9NA BACHS SO
(C) FIRACH AHroF =SATAF Aoz
(D) T @IAIHE T

50. TR (il Iy (R o R ST
oI T fet =11 2

(A) Tsfiat
(B) isfie
(C) ToEl
(D) Gifere 2B
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51. The Kyoto Protocol of 1997 adopted the
programme for
(A) ending global poverty.
(B) the democratization of UN system.

(C) broadening participation within IMF and
World Bank.

(D) reducing greenhouse emissions.

52. Who among the following drew distinction
between internationalised economy and globalised
economy?

(A) Immanuel Wallerstein
(B) Paul Hirst

(C) Charles R. Beitz

(D) None of the above

53. Which one of the following is not a dispute
between India and Pakistan?

(A) Siachen dispute

(B) Sir Creek dispute

(C) Cross Border terrorism
(D) Pangong Tso dispute

54. The First Amendment of the Constitution of
India made several changes to the provisions regarding
(A) Fundamental Duties
(B) Creation of new States
(C) Fundamental Rights
(D) National Emergency

55. Who has coined the term ‘Congress System’

to explain the party system in the first years of Indian
Independence?

(A) Atul Kohli
(B) Myron Weiner
(C) Paul Brass
(D) Rajni Kothari

X-14

51. 1997 AT FRICH! (RANTHITeT @ I G 229 6
O Sy e

(A) w-nifaw wdiead

(B) ABjrer alTegeae

(C) IMF @ 3 718~ SIR*Ieizeld 219 Soic
(D) far=®st s fefse i1 =it

52. fary SfalRe (& wiewifos wdafs 3z fmifre
S<fNeF T 2L FATEA 2
(A) T STAREOR
(B) 125
(C) et o4, (A2
(D) ToATIT (FTE

53. fafeiie @ fTamt e Wae «AifFEicag St
T2

(A) PRI kAW

(B) T @i am
(C) Sl Sfo@ S 7gA
(D) #iniaik (1l fam

54. Sigorm MRUCAT @ WeAga @ g
qratefee fAfen vfxasa wita, ©f z&
(A) GHfERE 67
(B) g A< %
(C) GNfers wifglz

(D) ST GRE SR

55. ST FHITOF AU TRAS S e IR 1
FCS 1T (F TR s S bie] I3 2

(A) =rgeT (e

(B) SIfZa SN2 AE

(C) “AeTa™

(D) Tl A
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56. Who started publication of Kesari? 56. (5] AR (F ST FIN?
(A) Balgangadhar Tilak (A) e aPFI4R foetm
(B) Gopal Krishna Gokhale (B) Call=lleT 6 (oNlICe

(C) M. K. Gandhi (©) @, . T
D) Bhagat Singh
®) g g (D) @5ie 152

57. Who is the author of Nation Building in India? 57. (9 Q750 3o 3fwz <3Ga Toiel (2
(A) Rajni Kothari (A) & IR
(B) Sudipta Kaviraj (B) i Ffare

(C) Jayaprakash Narayan

C) SAIH e
(D) T. K. Oommen ©

(D) 5. . S

58. Given below are two statements, one labelled 58. Tits wfo Yl =g, a7 @3 o7 (A) € s

as Assertion (A) and the other labelled as Reason (R). I (R) feroica e |fRgfoafore N5a FA AT OH
Read the statements and choose the correct answer 5 o fowolel e 2 '

using the code given below:
& & 277 (A)¢ (FRIT O] T 25 G0 -

Assertion (A) : Central Information Commission

is an independent constitutional Afaafe i |

body. I7EF (R) ¢ @it SR SIS =z (2005)
Reason (R) : It is constituted under the fefers afsfoe |

provisions of Right to TP ¢

Information Act, (2005). (A) (A) <=z (R) 762 37y &=¢ (R) FASFSIE (A)
Code : (P IR S |

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) (A) €3 (R) 752 &y @2k (R) ABFSI (A)

. (S PRSI
(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A). (C) (A) 7% € (R) 2 |
(C) (A) is true but (R) is false. (D) (A) 2yl 5% (R) 79y |

(D) (A) is false but (R) is true.
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59. In the two lists given below, List-I provides
organisation and List-II provides names of political
leaders. Match the two lists and choose the correct
answer from the codes given below:
List-1
(a) Independent Labour Party
(b) Justice Party

List-11
(1) Periyar
(2) Deendayal

Upadhay
(c) Praja Socialist Party (3) Bhim Rao
Ambedkar
(d) Bharatiya Jana Sangh (4) Ram Manohar
Lohia
Codes:
@ () (© @@
(A) 3 1 2 4
B) 3 1 4 2
<O 1 3 4 2
D) 3 2 4 1

60. When did West Bengal emerge as a separate
Indian state?

(A) 15 August, 1947
(B) 15 August, 1948
(C) 26 January, 1949
(D) 26 January, 1950

61. Who appoints the Inter-State Council?
(A) The President of India
(B) The Union Cabinet
(C) The Prime Minister
(D) The Union Home Minister

62. Periyer was associated with which of the
following organizations?

1. Congress Party
2. Justice Party
3. Dravida Kazhagam
4. Hindu Mahasabha
Choose the right answer:
(A) 2,3and 4
(B) 1,2 and 4
(C) 1,3and 4
(D) 1,2and 3
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59. S5 ufo SifeT =R | ©fF-1 @ IR ARG
TSR, GNferAl-11 (S FIFGT G (10 (T AT SNCE |
SifeTet 757 FCE (I A AN (TS (I FAREITHI A
T foree ofF 51 sl 7T AR | (@I ALFoH
HF T 2

©ifer-1 @lferm-11
(a) BfBroITTt @RE A (1) coifs=
(b) 5o #iifS (2) AT SR

(c) 2 EImfErS b
(d) OISR Tl Y

(3) SNEINE NI
(4) FNNCARS M

P
(@ (b)) (© (@
A 3 1 2 4
@) 3 1 4 2
© 1 3 4 2
D 3 2 4 1

60. SIFCSN GIH 52T A RO ARSIRER Ted

(A) 15535, 1947 AlCa
(B) 15195, 1948 itel
(C) 26 SRR, 1949 AT
(D) 26 SIS, 1950 AT

61. S@:AIEy “faam (& fCie e 2
(A) SRR B
(B) (@ A0
(C) 2wzl
(D) (FER TG

62. AT T O (I AN I FoF et 2
1. <0 #iifS
2. = Ao
3. wifle el

4. Tz w2pTel

A5 Taafs fef et ¢

(A) 2,349R4

(B) 1,2 &3R4

©) 1,34R4

(D) 1,2 ¢33
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63. Who among the following was not a member of
Constituent Assembly of India?
(A) Sir Firoz Khan Nur
(B) Sir Zafarullah Khan
(C) Dr. Jay Shankar
(D) Jai Prakash Narayan

64. Which of the following pertains to the 61st
Constitutional Amendment?

(A) Ninth Schedule

(B) Anti-defection

(C) Amendment of Article 368
(D) Lowering of voting age

65. A new All India Service can be created by
(A) An Amendment of the Constitution

(B) A Resolution under Article 312 of the
Constitution

(C) An executive order
(D) A statute

66. Which of the following members of the Drafting
Committee of the Constituent Assembly of India said
that the Governor of a State nominated by the President
of India will be the agent of the Union Government?

(A) T.T. Krishnamachari
(B) B.R. Ambedkar

(C) Sardar Vallabhbhai Patel
(D) Rajendra Prasad

67. Whoamong the following firstinitiated the study
of state politics in India?

(A) Igbal Narain

(B) Paul Brass

(C) Stanley Kochanek
(D) Myron Weiner

10-11
63. CHIe (@4 Ife SRTed AR Ae7izmmE
ST fRCeTel o1 2
(A) = Tecare 97
(B) i wrirzeeg
(C) T ermd
(D) TR AT

64. «FAToNTRF[AT AN FFfere @ faaa
A GG ?
(A) T ST
(B) weTeial Rcaifaet
(C) 368 SCBRA AL
(D) COBAOIHE Jos I 2

65. Toal GF ICITOI FOIF Cofdl 20O T
(A) IR AL T
(B) R 312 7R 41 SR ABIK AT
T
(C) e=iPfess fqoieea e
(D) =R e

66. SRTSAARKHIS etz weisiba e
(@ AT ARG (@ Ao NCiare @Il Aced
ASTA ITES (FRIT AIFIC 2AfSfwfz 203 Torae 2

(A) 5. 5. Freamifa

(B) f3. =14, StavEa
(C) “WiF IESS1B 2AToa
(D) diter™ o m

67. f0FIe @ ITE SRS ATy AT 551 9F
A 2
(A) T =R
(B) 2@ aM™
(C) 3BT (BT
(D) Wiza= SAZaa
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68. Which of the followingisnotaDirective Principle
of State Policy?
(A) Right to adequate means of livelihood
(B) Protection of language, script or culture of
minorities
(C) The state shall endeavour to raise the level
of nutrition and standard of living and to
improve public health

(D) To develop cottage industries

69. Who described Indian Politics as ‘Politics of
Scarcity’?
(A) Myron Weiner
(B) Paul R. Brass
(C) Atul Kohli
(D) W. H. Morris Jones

70. The discretionary powers of the Governor
in Indian states is limited to which of the following
functions?

(i) The appointment of the Chief Minister

(i) The dismissal of the Ministry

(ii1)) The dissolution of the Legislative Assembly

(iv) Assent to Bills

Choose the correct answer from the codes given below:

(A) (i), (i1) and (iii)
(B) (i) and (iv)
(©) (), (dii) and (iv)
(D) (i), (iii) and (iv)

71. Who among the following holds his office at the
pleasure of the President of India?

(A) Chairman of the Union Public Service
Commission

(B) Attorney General of India
(C) Speaker of the Lok Sabha
(D) Comptroller and Auditor General of India

72. The first Indian State that introduced law on RTI
was

(A) Tamil Nadu

(B) Uttar Pradesh
(C) Maharashtra

(D) Gujarat

X-18

68. I @A AT FOHETT Aifod Toee 73 2
(A) e SRl AT ST
(B) FRAAIWR ©I1, i1 @ Acgion scarwel
(C) % +f% 8 SR N Safed (GBI T
€ T GHT GOIA
(D) Fo3 ReR Rl 9oIC

69. SR ATIG(F TSI GG (FICARLE 2
(A) S SRR
(B) #IeT o<, 9
(C) wrget (e
(D) Tg. 93b. AT (&

70. R (@9 FEAR @Fg oired (@I
TSI AT TRIAN STl HI<7 2

(i) rER el

(ii) “EPIF AT

(iii) =NZ=PTe! (eTe (met

(iv) Re-@ s amw

Sebe AT (ATT AT T ARiB el ¢

(A) (), (i) 9= (iii)
(B) (iii) @=% (iv)
(€) (), (iii) 9= (iv)
(D) (i), (i) €= (iv)

71. TSR AFHifon RPN FEE & werR
LIFCS AT ?
(A) T A1afeTs ASH FHMcaa sy
(B) ©RCSS WG (Graitae
(O NGISXEASNE
(D) ©RTes fNags WA (Eeicas

72. ST A e SRS (FIe AT AT A5ET

L2
(A) SIfiiETg
(B) Teaetw
(C) 2%
(D) w&AG
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73. Whichone of the following sentences is incorrect
regarding the state politics of West Bengal?

(A) Atul Kohli refers to the period, 1967-1977
as the ‘decade of chaos’.

(B) Operation Barga and revamping of the
Panchayats were the key reasons for the
dominance of the Communist Party of
India (Marxist).

(C) The All India Trinamool Congress was
formed in 1998.

(D) The first split in the Communist Party took
place in India in 1969.

74. Which of the following sentences is incorrect?

(A) Kanshi Ram formed the Dalit Shoshit
Samaj Sangarsh Samiti with the purpose
of contesting elections.

(B) The word Bahujan as an ideological
category comprised only the Scheduled
Castes.

(C) ‘Dalit Panthers’ was inspired by the works
of ‘Black Panthers’ in the U.S.A.

(D) E.V.Ramaswamy Naicker was popularly
known as ‘Periyar’.

75. The policy of protective discrimination seeks to
promote
(A) formal equality
(B) substantive equality
(C) inequality
(D) meritocracy

76. Which one of the following institutions is
responsible for Social Audit?
(A) Gram Sabha
(B) Village Panchayat
(C) Intermediate Panchayat (Panchayat Samiti)
(D) District Panchayat (Zilla Parishad)

77. The phrase ‘developmental bureaucracy’ was
coined by whom?
(A) Joseph la Palambora
(B) Fred W. Riggs
(C) William Siffin
(D) Edward Weidner

10-11
73. fagferis @ w0 a/E?
(A) ST (FIZSN 1967-1977 SafY #<i7 FeTs
TISTFO T TR |
(B) Tt 951" AR ST sjofgez
2o ORCOT IHGEIS AT (M)
IfEoirera 32y e |
(C) I ©IF® Perfe 2 1998 A 2ifsfos
2|
(D) SiRTe IS b 2w [ees b
1969 AT |

74. I @ AHH AT 2

(A) IR vlre eNfre wie A9 ARNS a1ow
A e 2iforfyet a9 & |

(B) =G 11 251 g1 GH{b To e FIHal
q (71 ool Trifowlis dhe T |

(C) wlere Mg’ -3 WFT TSI TS
AN - (M A AT 20T |

(D) 2. fS. A= FizFa ‘om0 wifhfoe |

ISVl

75. FREEHILETP (ACHH ITofb BT (OICe
(A) SIifers A0
(B) &gy
(C) =PIy
(D) vareg

76. FURE @9 afed AT TR ke
QCF?
(A) arerel
(B) &lsieeivae
(C) =iz AN
(D) (& #ifsam

77. TEREEEeg (developmental bureaucracy)
AT (= G IR P 2
(A) (ST & ATl
(B) e vy s
(C) TEferan fifzee

(D) GTTIAG STGIA
[Please Turn Over ]
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78. Theprocess of transferring funds from one budget
head to another of the same department where there is
a need for more expenditure is called

(A) Transfer

(B) Re-allocation

(C) Re-appropriation
(D) Sectoral allocation

79. Which of the following is concerned with the
substantive functions of the government?

(A) Staff agency

(B) Line agency

(C) Auxiliary agency

(D) Staff and auxiliary agencies

80. The theory of ‘Prismatic Society’ in Public
Administration is based on which of the following?

(A) Study of Public Services in developed and
developing countries

(B) Institutional comparison of Public
Administration in developed countries

(C) Structural-Functional Analysis of Public
Administration in developing countries

(D) Historical Studies of Public Administration
in different countries

81. Which of the following are Executive Powers
of President?

1. Every executive action done by the Indian
Government has to be in his name.

2. He appoints and compensates the Attorney
General of India.

3. Heappoints administrators of Union Territories.

4. He has the authority to declare any region a
scheduled area and has administrative authority
over scheduled and tribal territories.

Choose the correct statement (s) from codes given below:

(A) 1and?2
(B) 1,3 and 4
(C) 2,3and 4
(D) 1,2,3and 4
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78. (I RIS s 263 At g [eag
G5 AT AT 9% T GF0 ATEHE AT BB
FACE I @1 2 2

(A) ZBI®F (Transfer)

(B) #7145 (Re-allocation)

(C) #cer (Re-appropriation)
(D) (@17 395+ (Sectoral allocation)

79. fIHE @0 T o1 e Ao ToAfFe 2
(A) 51T &
(B) =zw «rai™
(C) wfFferfa ata™
(D) 51 ¢ SfHferifd arat™

80. TP ‘faecais eI -7 wg fufkie
@i s Toin fefe ot site Toatz ?

(A) TFe RTINS (e e Eeifrraieiim
Ay

(B) & (e TmemipiiTa aifewifas werm

(C) Taglie] (lafeTa Semicag S
Pt e

(D) fafew ™It Taemtaa afezifre 1o

81. FrHre @I Agsifon emfas wTor sreefe ?
1. SIS TS 2l i Fsanst agsifon
TN 2 ACF |
2. fefa =it ermitaeTss facne st ¢ G2 s
IO T2 FCA |
3. o (FamiifTe S1etea e Weel S0 |
4. (RIS oI eTge o126 R fofd e
FACO AT ¢ wofFeTge ¢ Toeifo-sigiie
SR €T S S FYg AL |
v @I Tl esitzm AT RYfoelns ffee
A2

(A) 19382
(B) 1,3 9 4
(©) 2,3 924
(D) 1,2,3 ¢4



X-21

82. National Mission for Green Indiais merged with
which of the following?
(A) Swacha Bharat Abhiyan
(B) National River Conservation Scheme
(C) National Afforestation Programme

(D) MGNREGA—Mahatma Gandhi National
Rural Employment Guarantee Act

83. Who among the following is known as the father
of ‘local self government’ in India?
(A) Gandhi
(B) Ambedkar
(C) Ripon
(D) Wellesley

84. Which statements are true regarding functions
of UPSC?

1. Itisconsulted for principles to be followed during
promotions and appointments.

2. Advising the Government on any matter referred
to the commission by the President of India.

3. Anindividual ministry or department can reject
advices tendered by UPSC.

4. If the Government fails to consult UPSC in
regards to personnel management, then the
aggrieved public servant can go to Supreme
Court.

Choose the right answer using the code below:
(A) 1and3
(B) 1,2and 4
(©) 2,3and 4
(D) 1and2

85. InPanchayati Raj Institutions, women have been
given 1/3rd of the seats reservation vide
(A) 73rd Constitutional Amendment
(B) 74th Constitutional Amendment
(C) 42nd Constitutional Amendment
(D) 64th Constitutional Amendment

86. The Institution of Lokayukta was created for the
first time in

(A) Punjab
(B) Bihar
(C) Orissa
(D) Maharashtra
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82. WHfEIe (P 2507 A% T ST T

fore 3 fores cortz 2

(A) TR OIS S

(B) THIE FeiF FeTRCe* 25

(C) =TT SRR &5

(D) T2 SN T e ANZCTS Ao
13 (MGNREGA)

83. fary Sfafle W Ife SRre g HHET
G ACe SAfAbe 2
(A) =Rl
(B) ST
(C) [
(D) STACEART

84. UPSC-3 Faai WGFIE (I Rgfoafer 7oy 2
1. Calafe @ fasl-aa Sife 7e @ 2R ez 2iis |

2. SRS ARSI TR 0 (2AfTe @ @I
T RS A 77 |

3. (@ (I TF 91 [eisl UPSC-3 #I=sf areppe
JFACO AT |

4. TR 2AfEET 7eFR WM UPSC-7 s
fore el =7, eIt s Teifa oI gfew
(FITHF @IE TS A |

AR (@I AL (G A 2
(A) 19R3
(B) 1,2 @3 4
©) 2,3¢9R4
(D) 193%2

85. AxItTCRIT Afeviaafare wfzemtm T
G-I B HA S 27
(A) 739 AR AT == |
(B) 74%% AR A4 @i |
(C) 427 ARRIE A @il |
(D) 649 AR AT B |

86. IS AP @AITS 2L AT Fat 2eafee,
1 et
(A) gGR
(B) =7
(C) sfe=n
(D) T2<1E

[Please Turn Over ]
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87. Accordingto Almond and Verba, the individuals
in a parochial culture have the following:
(A) Low cognitive orientation about the
political system, its leaders and operation

(B) Low affective orientation about the system,
its leaders and operation

(C) Low evaluative orientation about the
system, its leaders and operation

(D) All of the above

88. Structural functionalism is primarily
(A) a measurement for comparison.
(B) anideology of development.
(C) aframework of investigation.
(D) a method of governance.

89. Who among the following, coined the term
under-development?

(A) Antonio Gramsci

(B) Rosa Luxemberg

(C) Immanuel Wallerstein
(D) Kenneth Waltz

90. Who is the author of the book The Presidential
Republic?
(A) Jean Blondel
(B) Walter Bagehot
(C) E. H. Carr
(D) Dorothy Pickles

91. Who founded the ‘Mexican Socialist Worker’s
Party’ which was later named as ‘Mexican Communist
Party’?

(A) Jaya Prakash Narayan
(B) B.R. Ambedkar

(C) M. N. Roy

(D) V.I.Lenin
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87. SIS ¢ CFA-A Ao WIS AFhore wRfFe
YW (@0 AT 2

(A) FECafes 7, (ol 8 fEasatol Tt
it wfefes siferaie™ (cognitive
orientation)

(B) Ao 5<%, (ol @ {Faeatiol {1
et s fefofes efotare (affective
orientation)

(C) AGTASST A<F, (o € T F={F
eIt R Sife e (evaluative
orientation)

(D) T T3

88. FSCH-FRAM T 1o IR
(A) SR A
(B) Smata wowH{
(C) SEPTRITTA FIOTHN -9+
(D) *ACS *ife

89. TTF-(BTSHTTT *F(0F AT (F2
(A) SCsifae s
(B) camert syesrigsl
(C) THCIE SANFIIBIZH
(D) (2 ST

90. 77 CAPICPRI [T97fere 2Z0F (14 (F 2
(A) & Fres
(B) ST (I9126
(C) . 935. 39
(D) T o

91. 2/ ANCH (T 7 (NP IS 2N ace
e zwafes, o2 ‘R EIferSs eaide #Aife &
Al FARCE 2

(A) SIAFH TR
(B) SN HTHTHA
(C) NINtImY T

[ [any

(D) wifufs= 36t @ fee
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92. Which one of the following federal systems was
identified as a model by K. C. Whare for judging other
federal systems?

(A) Australian federal system
(B) US federal system

(C) Swiss federal system

(D) Canadian federal system

93. ‘Unequal exchange’ is the formulation by which
of the following?
(A) Samir Amin
(B) Amartya Sen
(C) Paul Sweezy
(D) Andre Gunder Frank

94. Who has developed the most well known version
of World-Systems analysis?

(A) Immanual Wallerstein
(B) Paul A. Baran

(C) Andre Gunder Frank
(D) Gabriel Almond

95. With reference to Pierre Bourdieu’s concept of
forms of capital, which notion is incorrect?

(A) Cultural capital can be understood as
embodied, objectified and institutionalised
capital.

(B) Economic capital refers to monetary
resources having exchange values.

(C) Academic credential is a form of social
capital.

(D) Symbolic capital is any form of capital
recognised by the concerned particular
scheme of social relations.

96. Which one of the following books was authored
by David Easton?

(A) A Systems Analysis of Political Life
(B) The Politics of the Developing Areas
(C) Modern Political Analysis

(D) The Nerves of Government
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97. Which one of the following is not a demerit of
Proportional Representation?
(A) A complex system
(B) Leads to bi-party system
(C) Leads to coalition government
(D) Leads to cabinet instability

98. Gabriel Almond replaced the notion of
‘institution’ with the following:

(A) System

(B) Structure

(C) Functions

(D) None of the above

99. Thenature of Comparative Politics till the 1940s,
was

(A) Analytical
(B) Scientific

(C) Normative
(D) Descriptive

100. Dependency theory drew its inspiration from
the experience of countries from

(A) Latin America
(B) Europe

(C) Asia

(D) Africa
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